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0 = FnEhsR 1=2.188"x 40mm K =4.45" x 88.82mm (003) =3 (0.03)=3
4 = J]API423.5" (88.9mm) 2=4.256"x 88.82mm J = 57mm x 40mm (006) = 6
3=3.0"x 40mm M = 50mm x 40mm (009) =9 - (010)=10
4=45"x88.82mm N =52.5mm x 40mm (015) =15
5=15.0"x88.82mm P = 78mm x 40mm (020) =20 - (811)=11.8
6=46"x88.82mm R = 64mm x 40mm (025) =25
7=4.7"x88.82mm S = 66mm x 40mm (030) =30 —1— (512)=125
8=2.25"x 40mm T=74mm x 40mm (035) =35
9=25"x 40mm U =76.4mm x 40mm (045) =45 -1 (0.20) =20
A = 53mm x 40mm Q=4.8"x 88.82mm (053) =53 Y
B = 51Tmm x 40mm W = 72mm x 40mm (063) =63 (099) = 99
C = 56mm x 40mm L = 80mm x 40mm (075) =75
D = 52mm x 40mm V =55m x 40mm (088) =88
E = 54mm x 40mm X = 59mm x 40mm (105) =105
F = 60mm x 40mm Y =77mm x 40mm (125) =125
G =4.4"x 88.82mm Z =75mm x 40mm (150) =150
H = 58mm x 40mm (200) = 200
RS X 0777 F=RER
RS 4.5" HMZ x 88.82 mm FE 6 pm EH 10 mil EE
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